Number System Formative assessment

1. Without actually performing division, state which of these number will terminating decimal
expression or non terminating repeating decimal expression

a) 7/25
b) 3/7
c) 29/343
d) 6/15
e) 77/210
f) 11/67

g) 15/27

Solution

Those rational number which can be expressed in form x/2™ X5" are terminating expression and those
can not be are non terminating decimal expression

Terminating decimal: (a), (d)

Non terminating repeating decimal: (b), (c), (e), (), (g)

2. Rationalize the expression

)2+\/§
a 2—/3

This material is created by http://physicscatalyst.com/ and is for your personal and non-commercial use
only.




-

b V3+V2
) i

Solution

2+\/§X2+\/§_4+4\/§+3
2—V3 2++3 4-3

3) Write 10 rational number between

=7+ 43

a)4and5

b)1/2 and 1/3

4) Represent in rational form.
a)1.232323....

b) 1.25

c) 3.67777777

5) Prove that 2 ++/3 is a irrational number

6) True or False statement

a) Every Real number is a Rational numbers

b) Every irrational number is a Real numbers

c) Every whole number is a natural number

d) Every integer is a rational number

e) Every rational number is a whole number

f) There are infinite integers between two integers
g) There are finite rational number between 2 and 3

3
h) V3 Can be expressed in the form % ,s0 it is a rational number

Solution
a) False ,since real number includes both rational and irrational number
b) True
c) False,as 0 is not natural number
d) True ,as any integer can be expressed in the form p/q
e) False
f) False,There are finite integer between two integers
g) False
h) False

Multiple choice Questions
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Solution (b)

9)if x=2+3 andyzﬁ

Then what is the value of x2 +y?

Solution ©

Simplify Following expression

T2
a) 63X63
4 1 2
b) s +t—=t+—=
21§§ 2564 2435

252
C) b Y
254
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